SRI KRISHNAVENI BANKING COACHING CENTRE

YEMMIGANUR, CELL: 9885303408, www.krishnaveni632.yolasite.com

MAXMARKS:200

MODEL PAPER-19

TIME:135MINI

GENERAL AWAREMESS

1) 0n 26 May 2014, Which financial
regulator said it's permission is
necassary for any take over or
poquisition or control of an NBFC

(Mon-Banking Finance Company)

1D SEBI 2 IRDA 3)MEBI
4)SBI  5)REBI
) To repulate peyvments in India,
payment and Sattlement systems
Act passed in.....
172000 2)2005 3)2011
4) 1999 5y 2007
3 ......High court in India on 2 April
2014, resfored the power of the
Resarve Bank of India 1o decide the
period after which the bad boan can
be called as a Mon-performing
Assat{NPAY T
13 AP 2) Tamil nadu 3) Gujarat
4y Assam  3) Mone
4} The RBI permitted bank
branches abroad to sell structured
products that are not specifically
permitted in the domestic market.

Which of the following

statements is correct in this

context?

1) Banks can offer such products
in foreign branches in
compliance with the host
country regulations

2) Banks are allowed to do so only
at the established financial
centers outside India like New
York,Singapore,Hong Kong,
Frankfurt, Dubai etc.

3} For other than established f,r
financial centers banks may /
offer only those p[‘ﬂdunl:s thgt
are specifically permitigd in'-_
India.

4) RBI review the above éﬂi&m\e‘a
from time to time ™,

5y All of abave

Expert commitfee headpd-by -
P_J Nayak s reviay the™.
governange of Eaaraba\fﬂﬁhks
given Locqte the-wmng dnswer?
NG ent should reduce its
hiblding in plblic banks
to below 50 percent.
2) G-;:uvenu\e;kih-:nu!d repeal the

5) Rmmmendmﬁ:;ifa.})ﬂagﬁyﬂﬁy

Bank Mationalization Acts
together with the SBI Act and the
SBI (Subsidiary Banks) AcL
3) BBl should loose its control
over foreign banks and handover
the authority to EXIM Bank.
43 Al of Above 3) Mone
6} Cm 20 May 2014, Indian stock
Market entered ......trillion
dollar club?

5) Minster for Environment and
Forest Affairs?

13) For the first time in the

country’s history
shompens,pensidercd one of the
last sur'.-i{:'ng stene —age

tribe

ibes,gast their voies in
fiedd pirliamesitary
elections, This tiblé- inhabited

recently h
the f:_:r]j-ox'-'ing

1yTwo 2)three 3) Four @:‘Idﬂ\-—-- ot
41 Five 3) One - {
7) Hindustan Motors halted the Vi
production of India’s iconic oF //ijﬁglk
Car... 4 s
1} A.ltn 2) Bolere 3) Ambas n:“ SJ
4) Winner  5) Swift lﬂi‘re dent if India on 12 May
8) World Trade Orgam!;ul::l 4, had given his assent to...
{WTO) pmy:ctcd that wg& 1) Whistlehlnwars pratection
trade grow by .. ) Act,2011
20147 2) Whistleblowers Rights
)28 2035 A4 7‘“»-__ . act,2011
4355 6)6.0 \qj, 3) Whistleblowers protection
9} Ryder Cup I:relungs‘to Act, 2014
11 Volley B 4) Whistleblowers protection
3) Golf Act, 2012
5} Tahbl 5™, 5) Mone
103 On 1 lune 2004, Y og 15y Donna Tartt Has won fiction
Dutt and Su Pulitzer for which of the
oldhand i following books?
ﬁgﬂat: 1) The little Friend
Sasgdri City of ltaly.Both players 2) Dark places
/,« Belong o whi game/sport? ) Gone Girl
) Clfass 2) Squash 3) Foot Ball 4) Goldfinch
B 4}E-nxm 5) WI‘E:SﬂII‘LE 5) The secret History

/ATy

harapova won French
ID n 2014.5She belongs to......

2) Germany
4) Fomania

JI},Fran-:e
~ 3) Russia
— ) USA
\> 12) e-clearance mechanism is the
first in a serics of online
approvals that the government

proposes to put in place on 6

June 2014, The mechanism to be

intraduced by 7
1) Minister of Home Affairs
2} Minister for Urban
Development
1) Ministerfor External Affairs
&) Minister for Civil Aviation

16) Kamal Haasan led the Indian
delegation at the 67" cannes
international Film Festival from
14 May 2014, Where is cannes?

1) France 2y Switrerland
3) Iealy 4) Germany
5) None

17) Winter sleep won the Palme
d*Or award, the festival’s
highest honour at......

1) Oscar film Festival

21 Berlin film Festival

3) Cannes film Festival

4) Oglo film Festival 5) None

L&) Who was given additional
charge of the Ministries of

Rural Development,



panchayati Raj and Drinking
water and sanitation on the eve
of death of Gopinath
Munde on 4 June 20047
1) Sadananda Gowda
2) Uma Bharathi
3) Mithin Gadkari
4) Majma Hepthulla
3) Bam Vilas peaswan
19) protem —speaker of 16™
Loksabha is.......
1) Kamalnath
2) Sumitra Mahajan
3} Gopinath Munde
4y LK, Advani
5) Sushma swaraj
207 Former chief of the Air staff
Mormal Anil Kumar browne has
been appointed as India’s next
Ambassador to which of the
following countries recently 7
1 Norway 2)UJK 3) Spain
4) France  5)None
217 Who was appointed as the
Chairman of the Cawvery water
Disputes Tribunal{CWDT)
succeeding justice Np singh 14
May 20147
1 Justice mubkul Muodgal
2} Justice K.G. Balakrishna
31 Justice B.8. Chauhan
4) Justice Swatantra Kumar
5 Mone
22} 2014 Balley's Women's prize
for Flction won by Eimear Mc
Bride for her first novel *A
Girl 15 & Half Formed Thing' on
4 June 2014, She belongs to. ...
1yUSA 2 Ireland 3} India
4y Morway  5) Bulgeria
23) 2 States, 3 Mistakes of My life,
One Wight @@ The Call center,
Five point some one written by
1JE.K. Naravan
2) Chetan Bhagat
3) Sarojini Maidu
4) APT Abdul Kalam 5) None
24) Theme of 2014 Enwmnmgql
Day is small island Developing

" states and cllmmﬂhag:
the official slogan is *

Voice Mot the sca Lével’
Environment Da:,. @

131 June 2) I 3
414 June 3 EI,IunaH KR

25} International ﬂ:r B
Diversity
1) 22

"3 ﬁ 22 Ma}'
5)22 .Ium:
263 USED stands o Jy)
1y Unstructured supplementary
service date

2} Unstruciured supplementary

service data

3 Unstructured standard
service date
4} Unstructured supplementary
service Dairy
5) Unstructured supplementary
stalen date
2T IFRS means for.......
1) Indian Financial Reporting
standard
2) International Financial
Reporting scroll
3) International Favor
Reporting standard
4} International Financial
Reporting standard  5) Mone
28) Who set up ¥ 1.6 billion fund to
support maritime silk Road
development?
1)Japan  2) Russiz 3) China
4) Morway 5) India

297 Indian Mavy and Singapore /“&

Mawvy started Navy drill in

Andaman sea on 22 May 2014, ,-"f/

\/ J\}[nmuc by 100 times

1} Tropex 2) Malbar
3) Peace Angel 4) SIMBE qu\

) Wone H
30) Hosni Mubarak wa&]z)ni@\ \'\
for 3 years recently He was fhe- %,

ex-president of? .

1) Italy 21 F ﬂﬂﬁgym

4) Trao
31) Egvpt capl.ta i ﬂialiq _7
currency E-g}rr.lhls

1} Dollsr 2) x3} ble
4] Dinar “5) Pou
31] - Aecame }"C'IJI'I

'-'_afest "

— (,f"— , l?: tutory anuu:ht_-,- Ration
- /..aj |2}| Cash Beserve Ratio

/3) reserve Repo rate
,x 4) Repo rate  5) All of above
— 34) The bank in [ndia has to
maintain at the close of
business every day, a minimum
proportion of their net demand
and time |iabilities as liquid
assets in the form of cash, gold
and un-encumbered approved
securities. The ratio of liquid
assets to demand and time
liakilities iz known as. ., .,
1) Cash Reserve Ratio (CRR)
2) Liquidity stability Ratio(Ls®)
3) Reserve Repo Rate
4) Liquidity adjustment
Facility{ LAF)
3) Starutory liquidity
RatiofSLR)

35) The present statutory Liquidity
Ration{SLR) is......, |
1)22%  2)27%  3)20%

43 28%  5) None of these

36) If statutory Liquidity Ratio

(SLR) raises by RBI,then bank
funds...

1} Expand

2} Expand and shrink

3) Expand in the lengthy way
4 Shrink 5) None

3T} If the central bank slashes SLE
by 1% approximately how

much Hquidity increases in the
cxdgomy~
(mas‘_mm

Erores

’_“'ltj'ﬂ lﬁrﬂﬂl}l Crores

31 Rs. () Crores
*33] SLR increases, then the
ty in the sconomy..

) Fero 4} Infinitive
3) Decrease

“\wﬂ@'] If statutory Liquidity Ratio

increases,the availability of
bank loans....
1} Increases
2) Decreases to 2ero percent
3} Become negative
4) Decrease
3)None
40) In the first bi-monthly
monetary policy review done by
RBI on 1 April 2014, the SLE
changed by how much percent?
% 2)5% 3)8%
4) SLR not changed by RBI
5) In bi-monthly monetary policy
reviews, RBI cannot change
SLE
GENERAL ENGLISH

Directions (41-5%) : Read the
Iollowing passage carcfully and an-
swer the questions glven below it
l'.‘erta.u; wiords/phrases have heen
printed in bold to help vou locate
them while answenng some af the
questions.

The men of Suvarnanagari
were very lazy, They only liked to
gossip and tell vach olher tal] tales,
As sgon as the sun rose, the men
would tuck into 3 hearty breaklast
and then gather in groups for their
daily session of gnesiping, Then they
would spend the rest of the day 1e]t
ing cach other impossible stories,
They came back home enly at luneck
and dinner time. The farmlands of
Suvarnanagari were very fertile. 17
the men had apent even a lilkle Hme
at the fields, they would have resiped
wonderful crops. Bul as they did
nothing. all the responsibilities
ended up an the shoulders of the
wornen. They had to work hard the




whaole day. They cooked, cleanad,
gent the children to achool, worked
iri the fields, took the crops to the
market-in short they did every-
thing. One day the tired women
gathered and decided that the men
necded to be taught a lesson, One
of them suggested that they write
io the king about their problerm. as
he was kriown to be-a just and a
kind person. So the letter was writ-
ten and sent to the king. The women
went back to their daily.routines
hoping that the king would soom
take some action. Many days
passed, nothing changed. no one
came, and the poor women began
1o loge hope. “After all why would
the king of such a vast emnpire be
concerned about the plght of the
wionmen of such s Hny village ?° they
thought. A month passed by and it
was a full meen night. The men ate
their dinners and becauss it was so
beautiful ‘end well it outside, they
gathered again (@ chat and boast,
That sight they were trying Lo prove
to gne another that they were ca-
pabie of performing the most mpos-
gible tasks. Soon a tall and hand-
sorme stranger, joined them. Seeing
his noble features and intelligent
eyes, cach one wanted to prove him-
self betler than the others and im-
press him. One sadd, “l knew the
map of this kingdom even belore |
was bom. I ran to meet the king as
soon as | was bom,. my mother had
such bouble bringing me back home
" Everyone was impressed by this
story. Soon another man said, 'So
whial 15 5o greal about that ¥ When
[ was just a day old, [ could ride a
horse. [ sat on a big horse and rode
all the way to the king's palace. He
received me wilth a kot of love and
wiz had the most delicious meal to-
gether.” This was even more Impres-
give so everyone applauded. Now a
third man said, "Huh! That ia noth-
ing.” 1 sat on an elephant when 1

asked 0 be paid in gold bars and
the king complied. But the night
they received their fee, they disap-
peared from the palace. | have been
wandering around ever since look-
ing lor them. The king has ordered
e t0 find the four mien and bring
them back to the capital to finish
the work. They will also have to re-
turn the gold bars they ran away
with. It looks, Hge the search has
finally ended. [ will take the four of
vou to the king along with the geld
bars, The king will be very ple-aaed:
with me and will surely revard me,’

sald the stranger. By the time the
stranger finished his story the four
men realised that their lies had
landed them mto 2 huge trouble,
Thedr faces furned ashen and they
dived ai the stranger's fest. “Save
us I they pleaded. “Those were all
lies. We are all just a bunch of lazyr
men. But if you forgive us and for-

Eet gur stories we promise to do
some honest work and stop telling
such lies.” they walled. The stranger
smiled and said, “Alright, I will te
the king that there are no supgr-.
men in this village, just honest
hardworking men and wo

That night the stranger left the
lage. The women were that\bl;
was none other than th X
aelf.
4l. How did LPE men —f—
suvarnanagafi sp J.'h_glr
o
¢ S ind
S, W, Isf
fields

about thefr &x-

the women of
decide 7

was a week old and had lunch with That they would complain
the king in his palace.” Before the —\-:\\x, the ]..-,?rng ahout theptu‘p
admiring rurmurs could die down, F A ‘\\(

g fourth man seid, “When | was a.f P i
month old, 1 flew like a bird and " j V4 TERETHIG g )
Lmdmdmﬂmlﬂngaga:dm‘m:lung'\x - o < g

[

picked me up and even let me

his throne with him,” While £vepy-
one was in awe of these stories>the ™
stranger spoke up, “Do . >
you know the king uriy/tf{dl PO ™
course we do " they —
gelher”
us. In facthe is p
pernatural h-ejr;gp ]
kingdom,” 1:-11

slranger Inuh lH,uughtrul‘“:Ihat
mab:ca Yy ‘|"-:}1,.|

kin_ga::uu
da}'s e king rnl:lnt:l:l
four su m to the city in order
Lo repdir a ]at‘:giq holern the cify
wall. Ag you knowwe use only the
lergest and the toughest stones for
bEuilding these walls, and they could
ke lifted and put in place only by
thess supermern. The four supermen

-L_.a-'

;J [3) That they would stop work-

ing in the felds

[4) That they weuld stop semnd-
ing the children to school

15) That they would start gos-
siping like the men

43, ‘é‘h"h}’ did the women of
uvarnanagarl start losi

hope & s e

(1) Bacause there was no im-
provement in the men's
behaviour despite the
king's intervention

[2) Because many days had
Passed ang the king had
not acted g their com-
plaint

(3] Bacause they could nat
E4rR much despite working
hard all day in the ficld

(4] Bacause the king always
favoured the men of
SW.EI‘ﬁmag,m

(5]} Bagause they wer losing
thelr fmpartance after the
men had started working

4. What did the second man

boast abowt 7

(1] That he knmer the way to
the palace even before be-
ing bommn

(2] That he was stronger than
all the other supermen n
that village

at he flew to the king's
aweslk after he was

hua
= That Fie,rode a horse . day
after bt was born and had
El"i:ﬁml with the king

‘ﬁ"h:gt were the four supermen
ed by the king as told

@ & siranger 7
/:?I]Th ke sure that the men
of Suvarnanagari were
working in the Aelds
[2) To rob the gold bars from
Suvarnanagari
[3) Ta help the women of Su-
varnanagat! in their datly
chores
[4) To make sure that the
children of Suvarnanagari
went to school
{5} To fix the hole I the city
wall with strong and big
stomes
Whiy did the four men start
wailing ?
{1} They realised that there
were other supermen in the

Teingdom

(2] They realised that the king
was upset about thelr la.
Ziness

(3) They realised that they were
being unfair to the women

[4) They realised that their Hes
had landed them in trou-
ble

[B1They realised that the
stranger was the king

What did the four men prom-

ise o do?

(1] They promised that they
would stop ing and start
working hard

(2] They promised that they
would repair the ety wall

{3} They promised that they
would returh the gold bars,
the king gave them

(4} They promised that they
would help the stranger
ook for the four superan

[B) They promised that they
would gossip only about
trus stories

Arrange the following ineci-

dents in a chronological or-

47,



der as they ocourred in the pas-

Sagde,

{1} The: second man was boagt-
ing about his powers

(2] The women of Suvarmana-
garl were Unhappy

(3) The stranger left the village

[4) The: stranger said that he
would take the four men to

the king
(1) ADCE (2) BDAC
3] ABDC [4) BACD
(3] BaDC

48, Which of the following 1s true
according to the passage 7
(1) The women of Suvarmana-
gari gossiped
{2} The women were sure that
the stranger was the king
himself
[3) The second man said that
hie could fly when he was a
wieek old
(4] The stranger said that the
city wall was detroyed by
"the four supermer
{5) Mone 13 true
B0. Which of the following may be
an appropriate title to the pas-
Sage 7
[1) The fertile farms of Suvar-
nanagar
(2] The man who eould My
3] The lasy men of Suvarman-
agari
[4) The foolish women of Su-
varnanagar
[5) The city walls of Suvarman-
agari
Directions [H1-53) : Choose
the word/ group of words which is
most similar in the meaning to the
word fgroup of words printed in bold

blank indicating that something has
been omitted. Choose the set of
words [or each blank which best
fits the meaning of the sentence as
a whaole.

§6. They _ changed a few crite-

ron in __ recraitment pro=
eSS,
(1) has - our (2} hawe - their
(Blean-a  (4)had - an
(5) may - company

857. They had. the venue for

the party a month
[1) found - soon

(2] saw — earlier
1) looked - later

{4) selected - easily
(5] booked = in advance
B8. 5She is one of the __.___ inte-
rior decorators _ the city
1] best = in (2} most — of
(3] better — for (4) good — by
(5 more — an /

589. Please __ sure that you at- Iy
tach the photocopdes _ not "4
the eriginal documents, -
(1] be~alse  [(2]in - bt
(3] 50 - only (4] as - jr_1 ™

(5] make — and
G, his parents
other city, he

mata}'% 1“
this eity.
[1] Deapite — sHlb-—__

(2] Though -
(3] Inapite of
(4) No sgoner - auis”
‘rqirnm
3% :;)Read
heether
wgw;:ﬁ?mr or 1d-
i or, if any,

of the sentence.

ag used In the passags part is the an-

51. Tuck into o Error' the an-

(1] Eat [2) Fit inte ore errors of pune-

E:: ]E;T:EE i KHERE ; ed that (1]/ she will

52. Plight -y tng her (2)/ aunt at the

. — (3] hoapital the nesxt day.(4)/
[1) Troubles {2 lives r'; ;;,—" P error [%

(3) Routine  (4) Fights L 68 Each participant are (1)f ex-

[5) Arguments 4 pected to be present (Z)) at

53. Recelved A"/ / least an hour (3)/ before the

Y {1)Obtained (2] Welénmed . ‘-  competition. (41/ No Error (5)

(3} Collected (4] F 63. The king praised (1), the min-

15) Got / }‘-. 7 ister and (2)/ fewarded him

Directions \ with (3] a thousand gold

—? cotna. 4]/ No Error (5)

the word/group 0 fhir:h i
most opposite aning-to-
ward /group of ted
as used in the'pasaage. ;
54. Die b w4

[2]

it

{3) Declined

{5) Disobeyed

Directions (56-80) : Each scn-
tence below has two blanks, each

(4} Decided

84, She had requested (1) me to
looked alter (2)/ her garden
while (3)/ she was away. (4)/
Mo Error (5)

68. The farmer was (1]/ in need of
money (21 ao he went (3] at
the money-lender. (4)/ No Er-
ror (5]

Direcitons (B6-70) : Which of
the plirases (1), (2), (3] and [4) given
below should replace the phrase
given in bold in the following sen-
tence to make the sentence gram-

matically meaningful and correct #
If the sentence s commect as it is and

ﬁ :
S T,

No correction is required’ . mark [5)
as the answer.

66, Barring the few, all the
costomers are defaulters. '
(1) Barred a few
(2] Leave a fow
(3} Barring a less
(4] Barring a few
(5] Mé correction required

67. They cooks up a story in or-
der te get out of the situation.
(Iheoolked In a stery
2] cooked up & story

good books

. 3‘31:1 the good bookings

™. {5] No comrection reguired
actor has been heeping
wer profile for some time

\\/’f (1) lowering the profile

(2] profile low

[3) a lowest profile

(4] a low profile

15) Mo correction enquired
70. Though everyone was tired,

Rahul was hell bend on

playing another game.

(1] bending hell on

[2) hell Bent

[3) hell bent on

{4) hell bent for

5] Mo correction engquired

Directions (71-80) : In the
following passage there are blanks,
cach of which has beens numbered,
These numbers are printed bealow
the passage, agamnst each, five
words are suggested, one of which:
lits the blank appropriately. Find
out the appropriate werd in each
case.

The 'Fool of the Year® contest
was (71) to all the courtiers of king
Krishnadeva Rava, All of them
looked forward to the event as the
winner would (¥2) a handsome
prize of 5000 gold coins. The trou-
ble was that Raman (73] won the
contest. One year the other court-
iers decided that he must be kept
ot af it and [F4) his servant tolock
him in his room to prevent him
from reaching the palacs in time for
the event. Consequently, Raman
rearhed the palace (Z5) the contesl
was over. Just as the (T8 of the
winmner was about to be announeed
the king noticed Raman. Seeing him
tome in, the king asked him why
he was so late. Raman told him he
was in need of a hundred gold coins
and had been engaged in trying to
[77] the amount.

“If you had participated in thl:
conteat yvou might have won the



(1] 16 years 2] 11 years
17 9 years (4] 12 years
[5) Mone of these

106. What will be the average of the
fellwings set of scores 7
48, 47,64, 91. 72, 68, 83

(1) B5 (2] 69
3) 72 [4] &1
{5) 75

107.In how many different ways
can the letters of the word

"PARTY be arranged?
(1] 120 (2) 2005
{31 2400 [4} 720

(%) None of these

108. The sum aof three conseculive
even numbers 15 1434, What
i the largest number?
1] 488 12} 454
13476 4] 472
(%) Mone of these

108, The circumfberence of & crcle
ie 748 metre, What will be its
radius ¥

(1) 113 metre- (2] 107 meire

(3 116 metre (4] 109 metre
[5) Mome of theae

110, Cost of 68 pens and 56 pencils
ts' ¥ 788, What i3 the cost of

17 pens and 24 pencils ¥
(1) F 183 (2] 1589
(3T 197 4) T 183

(5) Mone of these

Directions [111-113) 1 Study
the information given below and
answer the questions that follow -

An article was bought for
¥ 5200, Its price was marked up by
15%. Thereafter it was sold at a
discount of 926 on the marked price,
111.What was the amount of

diseount given 7
(11T 528.20 (2F519.20
(3 F 533.20 (41 F538.20
(5] ¥ 525.20

112, What was the marked.price of
the article ¢
(11Fs780 (2] F 3880
[3) ¥ 5990 (4) T 5790
[S) T 5280

118.What was the percent profit
earned on the transaction 7 \,\_//ID
(1) 4.85% (2) 4.65
13 4, 35% [4) 4.4
5] 4.25%

114. A and B together ¢ >
a particular task’in 4 dag.If._ i

A alone can
task in 12

days will pTE[q‘_'";
the task ?
e r,

2} 5 da

t What
should in place of the question
mark (7 in ng number

series 7

115.7 7800 1560 390 130 65
(1147130 (2] 45900
[3] 45800 (4] 48350

(5} None of these

116.7 11 19 7 &7 131

(1) 35 (2) 23
(3] 46 [4) 51
(5} More of these
i17.56 10 25 7O 208 2
(1] 650 (2) 870
3] 650 [4)E10

(B] None of thess
1187 33 210 ? 8300 31500

(1] 1040 (2] 1060

[3) 1080 (4] 1030

(51 Mone of these
119,513 485 7 462 447 433

(1) 450 (21451

(3} 488 (4] 478

[5) None of these

120. In how many years will § 4400
©amount to F 5984 at 4 p.e.pa

gimple interest ?

he [Z) &
s [4) 7
(3] None of these

REASONING ABILITY

Directions (121-125) ;
of the questions glven bel
based on the given diagram,

:l (iJDand G (2) Only D

[#CGand F  (4) Only A

F
(5] None of these

/
Cﬁﬂa-wm I:Ifthnl: rDll.D'l.'i"l.'l'I.I Eﬂ;“p&

represents all such Govern.

ment employees who are not

Boientists ¥

(M A, Band D

(ZIBand F

(3] Onily A

(54 and C

124. Which of the following does

the group C reprmnt in the

above diagram 7

{1} All such emmplevess of Com-
pany X who are also Sci-
entists ag well as Govern-
ment employess

(2] All such Government ess-
pl-ﬂ-_'rmlal‘l'hu are Scientists
as well as emplove
Compary plovees of

[5) All such emplovess of Corm.

{4} B and D

diagram shews each represe
Scientisls, Government empl
sl employess ud'c-:rmpanyx

pany X who are Scientists
bat are not Government
employees
[4) All such Scientists who are
neither Goyernment em-
plovees nor pmployed with
Coampany X
(5) AIl such Gavernment em-
ployees whe are also em-
ployed with Company X
128, Which of the following groups
represents all such Scientists
who are Government employ-
ees as well as employed with
E‘mnpamr X7
2) Fand G
4] Omiy B
nted in the dia-

mﬁ-lm:ll Sty
mtcarefmlg.r
& guestions given

1524945261?319
dGT925683145128a38

all the even digits are de-
leted from the above

ment, which of the following
will be eleventh from the right

a.ml .-mswcr

end of the arrangement 7
e (23

31 (4 5
(57

127. How many such 4s are there
Inn the above arrangement
each of which is immediately
preceded as well as immed-
;teb!.r follovwed by an odd digit

(1] None 2] Omne
(3] Twa {4) Three
(5] More than three

128, How many such 1z are there
in the above arrangement,
etch of which s immediately
preceded or immediately fof.

lowed by a perfect square 7
(1) Mone (2] One
13} Two 14) Three

5] More than three
128, How many 3s are there in the
above arrangement, ¢ach of
whilch is immediately preceded
bar & digit which has a numeri-
cal value of less than three 7
(1) Mone (2] Dne
[3) Two (4] Three
15} More than thees
130. Which of the following is fifth
to the rght of the sixteenth
digit fremn the right end of the
above arrangement ?
s 27
33 45
(5] None of these
Directions (131-135) : Fol
lowing questions are based oty five
words given below |
MET ARK MOB SHI URN
[The new words formed after
performing the mentioned opera-
tiots may or may not neceasarily

be meaningful English words) . .



prize money and your problem
wiould have been solved,™ said the
king. ‘You've behaved very foolish-
kv, Raman_" “Sir that means [ am
a fool,” sald Raman, “you're the
greatest fool I've ever seen [ satd
the king. “In that case all the oth-
ers here are (8} than me. That
means [ have won the contest [
said Raman. The lgng realised that
he had (78) a slip but he was too
proud to acknewledge it To the
chagrin of the other courtiers, the
king (BD) Raman the winner of the
Fool of the Year contast !

B, 0B85+ 2 884024028 = T
(1) 4458 (2] 33,95
(3] 43.96 [4} 3496
(5] Mone of these

BT.53x0x14=7mB8
(1] 83 (2] 86
(3} 8B (481
(5} Mone of these

&8, 11.7x41-597=?
(1) 48 2} 42
(346 [4) 39
(5] None of these

B9. Jea] 4720 ="

TL. (1) closed (2} easy (1} 758 (2] 783
{3} open {4] lost (3} 741 4] 751
{5 winning (5) Mone of these
72. {1)find {2) give oo, 7L+nE_aton
{3) soe [4) receive 3 8 a
15) show - i
73, [l)never [2) tried (1) 35 2 EE
[3) totally {4) sy
[5) always 2 5
74. (1) bribed [2) ask @ 83 ) 85
[3) complained [4) raised (5) Mone of these
[5) confessed
T8, (1) later [2) soomn a1 [‘II?::Q =7 ios
(3] after [4) complete
(5] not VPSR [3) a3 i4) 91
¥6. (1) face 2] contest [5) 99 :
(3] comtestant [4) name 92. 24%.01 6730 = 7 /_/\%H“:-“L
(3] age (1} 15618.2 i2) 1819, h
7. .11} ook (2) collects [3) 1613.8 hz'imx
3] ﬁn.dlng [4] cn-untjng [5} Mone of t
(5} raise _ 3 a2 7
7B. (1) foclish [2) happler 08. B5+3219- = 4
3) wiger [4) sad : / EH g
(3} taller “qa
79. (1Mfallen 2] showed g @
(Bliound () made
(5] created 2:;
80. {1)declared [2) announce =
(3) saud (4) told c.my)
QUANTITATIVE APTITUDE 28 = 128
Directions (81-95) : Whal (2] 3168
value should come in the place of (4] 3188
ueston mark (7] in the followd
b2 i oE I/ o [ one of these
B 1o 90285047 =75
BL. (47} _115'] = 1) 31 (2) 34
(1) 1894 (2) 1848 L4
3) 1948 ess I 33 (4) 37
- " (5 Nane of these

{5] None of these
1] 3815,15
(3] 3281.15
8325 x43+5a7
(1)215

BZ. 51% of 4915 = ?cmﬁ/—\
B71.15
{5} None of
(3206 |

| 251
5) Mone 4f thege———;
3-4«93;’?6‘:3 51 =7 J,.-f

[n‘aq\

(3 120 2]!3
(5 Nonme o

BB. 1682 + 58 » P =477
{1 13 (2] 15
(3 16 4] 14

(5] None of these

Directions (86 - 100) : Study
the following graph carefully and
answer the gquestions that follow:
The graph represents the total

number of tickets sold of flve
plays P, Q.R. S and T, across two
apditoriuvms A and B on a
particular day

B Ba O=

\

86. The number of Hokels sold of
play T at auditorium A {e what
percent of the number of
tickets of play P aold at

auditorium AT

(1] 220 (2] 200
[B 210 (4] 190,
[5) 180

87, What 15 the total numh-:l of
tickets zold of plays § and K
together "at  hoth  the

T auditoriums A and B together?
(1) 1050 [ 1200
{3 1250 [4) 1350
(5] 1300

the respective ralio af
of Hekets sold of

uﬂﬂ;u of tickets sold of play
at dltbngm BT !

_I_I_EE 3 233 :4
{’ @1 2?:” 3.8
i5 the dUTtmnc:: hl:l:wl:i:n
;}utal number. of tickets
of all plays tngethr:r at
/\ guditorium A and the total
pumber of tgkets sold for all
/ plays together at audi:nrium

{1] 150 2 1.'-"12!.
[3) 150 (4] lErD'. .
(5] 140

100, What is the average numher of
fickets sold at auditarium B
for plavs T and 3 togeiher.?

(1] 360 [2) 320
(3] 300 i4) 340!
[5) 350

101.Tf the area of a rectangle is
1248 sgquare metre and its
breadth is 32 metre how much
is its perimeter 7 {
.o (11142 metre  (2) 128 metre
[3] 148 metre (4] 124 metre
[5) Mome of these
ll:ﬂ The cost price of an drticle is
F 7950, it is to be sold at a
- “prodit of 18%, how much woild
be its gelling price 7
(11§ 2431 (2§ 9183
(9179218 (4) T 9381
(5) Mone of thess |
108. 24 articles were botight for
¥ 14880 and sold for § 18480.
How much was the approxi-

mate profil percentage per ar-
tHele T

(1] 32% (2} 29%

[3 179 [4) 2095

(3] 240

104, What will be the compound
interest or & sum of T 7200 at
5 p.opa in 2 years 7

) F 841 2] ¥ 738
3 F 793 4] ¥ B12
(5] F 594

105, The ratto of the ages of A and
Bis 4 3 respectively: The ratio
of their ages cight years from
now will be 5 5 respectively,
How old wag &, when B was 7'
years old 7



131. If the second alphabet in each
of the waords is changed to the
previous alphabet in the En-
glish alphabetical arder, how
many words-having no vowels
will be formed 7
(1) Nene (2] One
(3 Tisly (4) Three
(5 Four '

132. Il in each of the words, all the
alphabets are arrangad in En-
glish alphabetical order within
the word, how many words will
begin with a-vowel?

(1) Mone (Z) Ome
{2} Tweo (4 Three
[5) More than three

133 [ the given words are arranged
in the order as they would
appear in a dictlonary from
left to right, which of the fol-
lowing will be second from the

right 7

(1} MET [Z} ARK
3] MOB 4 5Kl
(3) URN

134.17 in each of the given words,
each of the consonants is
changed to previous letter and
cach vowel is changed to next
letter in the English alpha-
betical seriea, in how marny
words thus formed will no

virwels appear ¥
(1) Nane (2] One
13} Taro (4] Three

{5) More than thres

135, How many letters are there in
the English alphabetical series
hetween third letier of the
weord which s fourth fraan the
left and the third lelter of the
word which is fourth [rom the
right of the given words 7

[. Mocollfes is sweet,
1. All sweels are collee,
137, Statements :
All edals are awards.
All rewards are medals.
Conclusions :
I. Al rewards are awards.
1. Al gwards are medals.
138, Statements !
Some trees are plants.
All bushes are plants.
Conclasions :
I, Atleast some irees are
Enashes.
II. Bome trees are definitely
not bashes.
130, Statements :
All boltles are glasees.
Mo cup is a glass.
Conclusions :
L No bodlle is a cup.
1. Atleast some glasses are

All windows are doors.

All entrances are windows.

Mo gate is a door,

Conclusions b

[. Atleast some windows

gales.

Il. Mo gate is an
141.In a certain code

written ag O

B writien

1] One (2] Two <
(3] Three () Four ~ took a left turn
5] Five LT d 5m before taking a
Directions [136-140) @ In < s and walking 7m. He
cach question below are two/three . then took a final right turm and
statemnents follewed by Lo condla- f,,-——;? ™, ked 1m belore stopping.
gions numbsered | and 11 You have ", ;’,_—-,\"‘1 far 1s Ajay from the start-
to take the twofthres given 51511':4‘ _/ - ‘*1 ing point 7
ments to be rae even if lhr_r' fll B metres
to be ai variance from com / (2’7 met
knewn facts and then dn::idelgw f‘/l i i
of the given eonclusions lagioally U= 16 e
follows from-the given stalemiants . [#2] 5 metres
disregarding commopTy Exowh., \‘7 (3] & metres
facts. ey Directions (143-145) : Study
Give answer j;f} @I}' = the following informration to answer
clusion 1 follows. & the given questions :
Give ans if orfly con- Amongst five friends, P, @. R,
EthHle! IT fiodl Sand T, each scored different marks
[3) if et thém in an examination out of a total of
l:lmdl:ln Tor 1nsban-li_.l'-:ﬂ)],mh'5 100 marks. 5, scared more than only
Ghvéﬁi‘nq"ﬁr[#:l if neither con- T. R scored less than F, Omly one
cluMun{er cuncﬂﬁsm—lf follows, person scored more than ¢, The one
Give answer if hath con- who scored second highest marks

clusion | and v

136, Statements s
Mo toffee is collee,
Mo sweet is tolfee,
Conclusions :

11 follow.

scored B marks.

143, Who gcored the third least
marks in the examination?
(1P 2 o
AR 45

5T
luﬂﬂlich of the-following is true |
with regard to the given infor- |
malion #
(1} Only one person scored |
more than B
[2] No one scored less than T
(3] R scored more than hoth §
and 5
[4) Amangst the five fiends, 5
Ia most likely to have
scored 95 marks in the ex-
amination
(3] None is trae
145. 10 3 scored 23 marks leas than
rks scored by O, which
the fo ng could possibly

g soore i
/ﬁr{ \>1]93
3) 61 (4) 89
:431\?5 e
_M{Illﬂ-lﬁﬂlzslud}l

the litowing information to answer

,p;i'me?r uestions:

L people are sitling in two
rows containing four people
insuch a way that there is
al distance between adjacent
rsong. Inrow I- A, B, C and D
seated (bul mot necessarily in
thie same order and all of them are
facing south. Inrow 2 E, F, G
and H are sealed [but not necessar-
ily in the same order) and all of
thern are facing north. Therefure, in
the given seating arrangement cach
member seated In a row faces an-
other member of the other row.

G sils second to right of E.
The one who faces E sits to the im-
mediate right of C, A faces the im-
mediate neighbour of E, H sita to
immediate left of the person who
faces D. H does not sit at an ex-
tréemme end of the line,

146. Who amongst the following

faces A7
mEeE [Zr
13 G [4) H

(53] Cannot be determited

147, Who amongst the [ollowing
faces the persen who sits ex-
actly between G and E 7

(1} A 2B

(3 C (% D

(5] Cannot be determined

148.Who amongst the following

faces G 7

(114 2) B

&3 (4 T

[5) Cannot be determined

148. Which of the following is true
regarding B 7

(1) B sits exactly between C
and D

[2) I sita second to right of B

(3] E sits at an extreme end ni'
the line

[4]B s an immediate neigh-
bour of the person who fac-
es F

15) None 15 true



150. Four of the fjowing five arz

151.

152,

153.

136,

157.

alike in a certain way based

on the given seating arrange-
ment and thus form a group.
Which is the nne that does not

belong to that group?

1M E (2o
[3 F 4 G
[5) A

Froblem Figures

163. Indirect marketing is the same

as
(1) Onsite selling
12] Using a smart

-phone

(3] Viral-marketing
(3] Advertisemnents
"15) Online marketing

164. Benchrmark means

- {1} A Standard vahse for com-
Directions (151-160) : In each of the queations glven below which
one of the five answer figures on the right should come after the problem
figures on the left, if the sequence were continued?

Answer Figures

]
2
1

NTTTT
CLoLik

‘iBEﬁl

L
B4z AN
(=]

AIAJAVTA

-

e 2
1 5]
7 @ @ @il

LN
(1 2 3 (4] g2l

e o [ e

(1 12 ; QTI ]

11 ‘1- ., 15

..\

4 @#@*@“

¥ xﬁm [ET

o

EEeElE

l'ﬁlrMaI’keang

adopteéd in - o
(1) Grocery stores™. <\\

(AT o @

(2] Basic products
(3) Court cases
(4] Financial targets

; 27N
3 z )

/’/
RH /

\\-\,
%
%

ﬂﬁi?ﬂi Jﬁ"\ T /ﬁx '“:};

,-'“\

P

s

(5] Sales persons’ targets

185. 4 Call in marketing terms

lnd‘trel

ﬁn
jl

1756. Find the correct sentence

[Z) Garmint frade

Lﬁlﬁmmmes‘l‘rﬂm—

4} Efii dtalls _7

(3] Hytels [
162, Selling4s___

(1) Same az-marketing

(2} Mese than eting

[3) Cifering discounts

(4] A sub-function of marketing
(6] Mothing to do with market.

. ng

IMearns

(1) Anewhr introduced product

(2} Territory dllocation for sales
PETSOMS

[3) & Call Cerntre

[4) A sales meeting

[} To visit & Prospect

A Cold Call means

[1) & fulile exercise

[2] Calls made in cold countries

[3) Sales talk

[4] Old product with new wrap-
pIng

[5) Calls made withoul prict
appointment

167, A Lead means

(1) AT usage

(2) Product offering

(3} Discount sales

[ A likely bugrer

(5] A type of credit card

168. “To Close a Call' means

{1} To look for new clicnis
{2] Telemarketing

(3} T clinch the sales deal
gﬂﬂne marketing

ciing
ls means _____
ll] here the prod-
! 1.||:t 1d

-r{&]-b-im'huunn agencies

ﬂ]-Dt]M.‘r}f time
te banking
ket size also means
1] Marioet planning
(2] Market pricing
3] Market space
(4) Market distribution
(5] Market thmm:"la

171. A fall in the ms.r}ut ahare Im-

plies

(1) Sales have gune up

12} Profit has gone up

(3) Prices are erratic

(4} Competition has incressed
(3) Business is wound up

IT&hIaIk:Lsharcmnbcm-m:md

by increasing
(1} Raw Baterial Ctost
{2} The stafl strength
(3] The sabes

(4} The sales staff

53] Competition

1'?3 Mate number of conversions

indicates ____

(1) More sales

(2) More purchases
{3 More staff

(4) More products

{3} More technological progress

1'?4 Financlal nclusion means

(1) Financial statemetits

(2} Financial d‘.ata

(3) Wholesale Banking.

{4) Retad] Banking

(G} Bringing all poor people
under banking ret

(1) KYT norms are not appli-
cable for Financial Inclu-

slony

(2] Loans can be gramted to
students at low rate of in-
terest

(3] Home loans are not ws=eia)

for public

(4) NRI customers are not prof-
italbde customers

(5) Online marketing is very



costly
176, Margin contribution in the
case of a lean account means
(1} Money pasd by bank to bor-
Tover
(2] Same as EMI
(3) Borrower's own contribu-
tic for the venture
14) Stamp duty
5] Registration chargea
177. Mutual Fund business from
exigting banl costomers can be
mobilized by
(1) Omline marketing
12 Cross-gelling
[3) Telemarketing
[4) Carpet bombing
(5] Rosd-shows
178. Digltal Marketing is the same
L
(1] Online marketing.
(2] Cross-aelling
(3] Websile designing
(4] Road-shows
5] Door-to-door marketing
179. “Load" means
(1) Log of wood
[2) Fee charged when one bays
or sclls the units of a fund
[4) Share price at the time of
buying
(4] Stamp duty (5) Fund value
180, In a Savings Account, money
can be depeaited on
i 1] Monthly bsis
(2] As per the convenience of
the depositor-
(3] Anmnal basis
4] In ene lump sam
(5]} Quarterly basis
181. Theinput device bo be used to

L e i

[2) Cutput device
(3] Software device
(4] Storage device
(5] Mone of these
1B7.In order to avoid memorising
e-mail address you should use
(1) Browser
[2) Search engine
[3) Liat of Birth date-
(4] Phonebook
(5] Address book
188, The devices which store infor-
mation and that are used by
computer for its functioning
are called :
{1) tmpuat devices
[2) Qutput devices
13) Software devices
(4] Storage devices
{5} None of these

180. Which among the following is

not such an eperation which

(2] Change size

(3] Move ;\/

(4) Delete
[5) Mone ﬂf%

get a printed diagram into a [4) Floppy disk and CD-ROM

ﬂ;hﬂPmLt:‘m the'i-’] T e /\ I Mome of these

(1 I “Which of the following is the

:BiEqrhnard L& T-:ruch / ) smallest measure of storage?

(5] Scanner (1) Terrabwte  [2) Gigabyte
182, Wh

putzlf Il.::g;ﬂt;l'?dmm 15.-"-&“*2?01'“ {3 Kilobyte (4} Megabyte

(1) Sterage (2} GulpuL M‘m (5] Byt

[3) Software

TR >
PR ] ]nputfﬂut{(
183, Any compo the ‘E&[n

puter you ;:l%cg WUE
15
&2‘! Peripher

1) Sofitwa
{3) Storage 14}‘{:]3[1,;"
{5) Hardware i
184. What is the value of the binary
nurmber 101 #
ME (213
(3 & (4] 101
59

185. Data or information used to
run the computer is called
[1) Seftware  {2) Hardware
{3) Peripheral  [4) CPU

i {5) Mone of these

186. The device which helps you to
cormmunicate with computer is
called :

| (1) Input device

193, Which of the following is re-
labed with persons associated
with eomputing process?
|1} Hardware
{2} Humanware
13) Software
4] Firrrware
(5) Peripherals

184, Which of the [ollowing i= both
cutput and input devices?

(1) Printer . [2) Speaker
(3} Modem (4] Monifor
{5} Scanner
198. RAM 15 & volatile memory be-
CEUSE
[1] it can be used for both read
and write

(2] amy location can be ac-
cessed directly into it

{3} confinuous power supply is
required for it to retain
data

y

oy
can be carried ocut on l.gu._ﬂfd"ﬁ
in graphic '"“‘a
{1] Spell check \> 189.

{-I-.I it does nol require con-
~Hnusus power supply
*.. 1% None of these
lﬁlﬁ‘- Which.of the following is not
AT eanm storage device?
[1Ch « } Floppy
[3] Hardcﬁsk [4;

I.W. a § u%-l I'nq-m of

] xraé‘uqm

Ela

|,,||'_"t1:|T$ s
dugtors ICs
l:ll' u'u:ac
\'Entage of DRAM 15
(1] Tk is cheaper than SRAM
\\\\}m It can store more than
that of SRAM
H-H'. (5] It is faster than SRAM
(4] Data can be erased casily
in it &5 compares o SRAM
(%) Mone of these
All of the folltwing Lorms art
related io spreadshesl soft-
ware EXCEFT
(1} Wiorlshest
[3) Formula
i) Wirus Detection
(3] Mone of thase
20, The (erm used for set of in-
structions which allow com-
puter to perform more than
one task, 13
(1) Hardware
13} Humatywars
{4 Firmaare
[5) Mone of these

[5]

,,.;;x\

vy

gl

i

'\.,_"'

(2] Cell

(2] Softerare
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51.

(1) Phrase tuck in/into scme-
thing means : to eat a lot of

- “food, especially when it is

53.

61,

i

a7.

done quickly and with enthu-

siasm; eat heartily,
Look at the sentence :

He was tucking into a huge
plateful of pasta.

« 1) The word Plight (Noun)

means : a difficult and sad
situation; troubles.

(2] The word Receive [Verb)
means : acoepl; get: welcome:
bear.

Look at the sentence :

He was received as an
honoured guest at the White
House.

4] Phrase die dowm means :
to become gradually less
strong, loud, noticeable ete,
Its antonym should be start.
(4] The word Comply [Verb)
means : to obey a rule, an or-
der ete.

Itz antonym should be dis-
abey,

(2) Here, Reporting Verb is in
past wense, Henoe, verb of re-
ported speech will also be in
past tense,

Hence, she would visit hers
would be visiting her
should be used here.

. [1) Here, subject [sach partici-

pant] i singular. Hence, sin-
gular verb i.e. is ....shmild be
e,

12) Here, me to look after (in-
finitive = to + V) .....should
be used.

(4} Here, to the money-lender
..... should be used.

. [4] A few means | a small

number; some, Few means :
ol MANY.

[2] The sentence hows past
time. Hence, cooked up a
story ..... should be used,
Cook up a story = concoct; to
invent a story, an EXcuse ele.

« [3] Idiom to be in somebody’s

good /bad books means : used
te say that somebody is
pleased fannoyed with you.

T0.

Bl.

3.

86.

BT.

L3 P=B+3+9+

(3) Hell-bent (Adjective)
means : determined to do
something even though the
results may be bad.

Look at the sentence :

He seems hell-bent on drink-

ing himsell 1o death.

(4] 7= [47P - (15

=[47 + 15) (47 - 15)

=62 x 32 = 1984
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; 512 39 105.72) A's present age = 4xyears Gain per cent
e R T B's present age = 3. years 2418 ..o
= P 16 x 128 Alter 8 years, 5200
=512 »x 39 x 328 4x+B B = 4,65%
519 % 30 % 228 Gx+8 5 114. (5) B's 1 day's work
= 7" gx128 "I98 = 20x+40= 18x+48 1.1 3-1_1
= 2x=48-40=8 =4 127 12 &
96, [5) —— =75 = x=d -. B alone will complete the
o x 78 = 2850 B's present age = 12 years worlk in & days,
worEemE - A'srequired age=4x=5 | 116.(3) The pattern is :
=?__%E=SB ; = 18- 5="11 years ?25‘2;13;}
o6, (2] p_ﬂqujmd tage 109,40 Recpabrert aiicrigs E-Eﬂ:-ll :?.'.'rﬁﬂ
5 Ted peEroen
i 483 _ o . 1580 = 5 = 7800
- 100 =200 =7
~ 200 107. (1) The word PARTY has five 7800 x 6 = [46800]
87. (4) Required answer : distinet letters. 116. (1) The pattern is :
=350 + 400 + 230 + 350 ». Required number of arrange- 7+4=11 .
= 1350 . ments = 5 11+8(=2x4)=19
98. (2) Required ratio =300 400 =Gxdx3x2x1=120 19 + 16 {= 2 x 8) = [ 35]
=814 108. (5} Second number -
. 35 + 32 (= 2 x 16) = 67
g s Jlas g 67 + 64 (=2 x 32) = 131
= 1650 - 1500 =150 117.(4) The pattern is ;
100.[3) Required Average . Largest Number = 480 5+1x5=10
360+250 _ 00 100. (5) 2ar= 748 10+ 15 [= 3 x 5) =
== - 22 254+ 45 (=3 % 15 =70
’ 218 ﬂzm?xr=?4-ﬂ 70 + 135 (= 3 » 45) = 205
1
101. (1 = ———39 - _
[1) Length = Taex_ 205 + 3 = 135
Pcru'mt'EJ':E[ll:ngﬂ'Hrbreadtlﬂ = r="gogg = mere 118. (5] The pattern is :
=2 (389 + 32) = 142 metre Tx5=35

110.(3) C.P. of 1 pen =Rs. x

95 x 6w 210
102. (4) C:P. of 1 pencil's Bs. y xGm
S.P. = %-IE=H5.EEEI - BBx+ 96y = 7B 210 % 5 =
' On dividing by 4. 1050 x 6 = G300
1048, {3 Percentage gaia 17 + 2dy =788 + 4 = Rs. 197 6300 x 5 = 31500
15480 - 14880 111.(4) Marked price 118. (4] The pattern is :
= —amso 100 =24% 13- 18 =495
B200%115
R T RSN L S 4956~ 17 = [ 478]
Discount =00 452 = 15 =447
447 = 14 =433
5V = Rs, 538.2
F200 (1+—] 1] 120. (1] 5.1, = 5984 — 4400
[ 100 112. (5} _Ha.ﬂ:ed price of article = Rs. 1584
BN 5.1, % 100
= - P
?m[__l] 113. (2) S.P. of article — 100
: = 5080 - 536.2 = Ra. 5441.8 Ll e
2300 % 41 ’ Gain = 5441.8 = 5200 153-1-;-:11:4:!-:
= 128 T T e

400 =Rs. 241.8




121.15) All such Sclentists who are
. Government employees but
are nod employed in Company

X can be represented by 'F.
122, (2} Such employees of Connpa-

ny X who are also Govern-

ment employees but are not
Sclentists can be represented
by "D,

123.[4) All such Governmient em-
Ployees who are not Scientists
can be represented by "B and
l

124.(3) Group 'C' represents such
Scientisis who are employces
of Company X' but are nof
Government employees,

125. (3) All such Scientists who are
Government employess as well
as employed with Company X
can be represented by G

128. (1) According Lo the question,
the new sequence would be

5195:13%51953:“3?

11th frem the Aght end

127.(2) [Gdd digit|4]0dd digi]
There is only one such '4° 2
[145]

128. (2]

e ——

su::h l:m'nb'lnal:lun is [1[4]

120.01) L[]
There is na such 3.

130. (4] 5th to the right of the 16th
digit from the right end means
11th from the Fight end. i.c., 5.

131. (3)

M E T=M D T|: ARK = AQK
E O B=M N B| SHl = SJI:
URN=U g N

132 4)

(M ET=E W T]:[ARK = AKR;
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134. (5)

M ET=LF 5|:[ARE=BET]:
M O B=L P & ;[SK=RM |
U RN=V QM

-135.()s KD ARE

g K
(136-140) :

(i) All medals are Elwafds =
Universal Affirmative (A-type).
lil) Some trees arc plants =

Particular Affirmative (I-type).

(iii) Mo toffee is coffec = Universal
MNegative (E-type).

[iv] Seme toffees are not coffee =
Particular Megalive [O-typel.

136. (4] Both the Premises are Uni-
versal Negative (E-typel, No
Conclusion follows from the
two negative Premdses,

137. (1) AN revrards are medals.

All als are awards.
A + A= A-type of Conclusion
“All rewards a.r'c‘awan:_ls‘.
This is Conclusion [.

138. (3) All bushes are plants.

Some ﬁ!aluﬁ. are 1rees,

A 4 | = No Conclusion

Both the Conclusions form
Complementary Pair. There-
fore, either Conclusion [ or 11
follows.

139, (5] All boliles are glasses.

No glass is a cup.
A + E = E-type of Conclusion
“Mo bodtle 1z @ cup’.
This iz Copclusion L

Conclusion 11 is Converse of
the first Premise,

140. (2] Al entmesces sre windows.

i
Al windiows are doors.

A+ A= A-type of Conclusion
“All entrances are doars,”

Al windows are doors.

Mo door is a gate.

A+ E = E-lype of Conclusion
“Ne window is a gate.”

All enlrances are doors.

Mo dnor 13 & gate,

A+ E = E-type of Conclusion
“No entrance is a gate.”
Conclusion I is Converse of
it

141.(2)

PAUSE—O BV

1 SRR
- ;:."‘T”
vl 41
+1

L -]

S H FT—+R ILJ G S
I -1 1~ T )
+1

ke ‘.r - -
+1
=1
Similarly
THINK—S1J4 0Q J
I -1 ¥+,
+
+
b |
=]
142. (1}
Mazth
Hl:.ll ........... I m
Wl FEast
T im o
Saulh
[EFH
Required distance
=(2Z + 5 + 1] melres
=& metres
(143 - 145) :
PQ.R>»5>T
P>R>S=>T

P=Q=R=>5>T
Q scored 87 marks.
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143.(3) R scored the third least

- mmarks in the examination.

144.(2) P scored the highest marks,

" R scored more than both 5

amd T.
5 must have scored less 87
marks,

148. (5] Score of S = 87 - 23 = 64
Score of B = more than 64 and
less than 87

(146 - 150) :

Il
!E.F"E H.'GE'

I.um] Fﬁﬂ-ﬁﬁm EH L

147. (3} H sits betwsen G and E. C
faces H. .

148. (4) D faces G.

148. (4] B sits exactly between A
and C.
[ sits aecond to the left of B.
B n;dm second from the right
emd,

A faces F and A is immediate
neighbour of B.

180.{1) Except E, all others are
seated at extreme ends of line.
151.(2) In cach subsequent figure

four designs move along a
square path and the remain-

ing designs are inverted.

(1) to (2 (2) to (3)
15) to (8]

0 [ . CI—

— ] - >

(3 to (@) @ to(5)
i TI e g
& af— H-i_:‘f -

152,13} I each subsequent figure
one more square gets shaded.
From Problemn Figure (1] to (2)
the design rotates through 90°
anticloclwize. Frem Problem
Figure (2] to (3} the shaded
squares move to the other.side
and the halfl shaded oval 15 re-
placed with line segment. Sim-

- {lar changes are continued in
the subsequent figures, -

153. [3) In cach subsequent figure |

the numbers ascend stepwise
and mgve 1o the bottom posi-
tion from the top in one step.
The numbers are rearranged
according to a certain pattern.
Ome of the designs arranged in
column remains static and all
other designs are replaced with
new designs.
1654, (5] After every two fgures the
tridangle is inverted from Prob-
* lem Figure [2). From Problem
Figure (I} to (2] the four de-
signs move one step in clock-
wise direction and the two
smaller designs attached to
the triangle imterchange posi-
tores, From Problem Figure [2]
to (3] the three designs at-
tached to-the triangle inter-
changes positions with their
and the fourth de-
sign is replaced with a new
design. These two steps are

continued in the subsequent

figures altermately.

15858. (1) From Problem Figure (1) to
2} all the four sets of three line
segments are rearranged in re-
verse ordér and the central de-
sign rotates through 90° clock-
wize, From Problem Figure (2]
to [3). the two sets of three line
segments are rearranged in re-
verse order and the two com-
ponents of the central design
interchange positions. Similar
changes occur from Problem
Figure [3} to [4). From Prob-
lem Figure (4) to (5) similar
changes oociir as that have
been otcurted from Problem
Figure (1) to [2). Therefore, sim-
ilar changes would oceur from
Problem Figure (5) to () as that
hawve been oocurred [rom Prob-
lem Figure (2] to [3).

‘187

156. (Z) In the subsegquent figures
respectively five, four. three
and two petals show changes.

(3} In the subsequent figures
the triangle moves respective-
Iy one, tweo, three, four and five
steps in anticlockwise direc-
tion. The design [2) moves one-
half and one step in clockwise
diFection alternately, the de-
sign [3) moves respectively one-
half, one. one and a half, two
and two and a half steps in
clockwise direction while the
letber is replaced with a new
letter in each subsequent fig-
e,

158. (2] In each subsequent figure
the bottommeost design moves
to the upper right comer . and
A new design appears at the
bottom most position. The
right eormer design replaces the
middie design.

- [#] In the subscquent figures
all the designg move two and
one step in clockwise direction
alternately and one design is
deleted in each subsequent fig-

uns, .

(3} In the subsequent figures
the main design rotates respec-
tvely through 45°, 90°, 135,
1807 and 225° clockwise and
the designs attached to the line
segmenls move Lo adjacent
comers and four new designs
get attached 1o the line seg-

ment.
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